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Directions: 

1) You must show all your work to obtain full credit. 

2) You are allowed to use electronic calculators and other reasonable writing accessories that help write the exam. 
3) Do not keep your mobile with you during the exam, turn off your mobile and leave it aside

	Question No
	Full Marks 
	Marks Obtained 

	Q1 

	12

	

	Q2
	08
	

	Q3
	06
	

	Q4
	06
	

	Q5
	06
	

	Q6
	12
	

	Total
	50
	


1. A manufacturer of car radiators has a monthly fixed cost of $16,000, a production cost of $25 per unit, and a selling price of $36 per unit.

a. To earn a profit of $210,000 how many radiators must be produced?      (3 points)

b. What will be the profit of the company if the company produces 8500 radiators?

                                                                                                                    (3 points)

c. Find the break-even quantity.                                                                     (3 points)

d. What will be the minimum number of radiators produced to earn a profit no less than $150,000?                                                                                           (3 points)

2. Abdullah wants to invest 4500 Riyals in two investment companies. Company A pays 6.75% profit and Company B pays 7.25% profit annually. To earn a profit of 320 riyals per year how much he should invest in each company.          (8 points)

3. Given the demand equation 
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& the supply equation 
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 where 
[image: image3.wmf]p

is the unit price in dollars and 
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represents the quantity in units of a thousand, determine the equilibrium quantity and equilibrium price. 
                                                                                                                    (6 points)

4. The demand function for a manufacturer’s product is p = 1100 – 2q, where p is the price (in dollars) per unit when q units are demanded (per week) by consumers. Find the level of production that will maximize the manufacturer’s total revenue, and determine this revenue.                                                (6 points)
5. Two lines are passing through (5, -4). One is parallel to the line y = - 4x + 3, and the other is perpendicular to it. Find equations of these two lines.            (6 points)
6. An oil company that has two refineries needs at least 8,000, 14,000, and 5,000 barrels of low, medium, and high grade oil, respectively. Each day, Refinery I produces 2000 barrels of low, 3000 barrels of medium, and 1000 barrels of high-grade oil, whereas Refinery II produces 1000 barrels each of low and high and 2000 barrels of medium-grade oil. If it costs $25,000 per day to operate Refinery I and $20,000 per day to operate Refinery II, how many days should each refinery be operated to satisfy the production requirements at minimum cost? What is the minimum cost? (Assume that a minimum cost exists).                            (12 points)
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